Wk 285FFE  BUBSEBNE HWE

e B4 A =

2l AR ma 1 ;3 WAL | A | 2551

4/15 HEISEE 1,74 5y 420, 000 420, 000
1 | 4/20 [wrmaz f@%igﬁl f%ggggﬁg A4 8,158| 411,842
2 | 5/25 | wmw |FHBHMLMA 1,236 410,606
3| 7/6 | wmm | HEBHMLMA 1,258 409, 348
4| 7/6 | Atk |GrfEERIREL. — L 4 3,652 405,696
5 | 7/14 sz (HEEH( RBERESREN) 10,584 395,112
6 | 7/14| wmn [FEALMN 751| 394, 361

7/15 EOSIEENE: 2 4 Py 420, 000 814, 361
7 | 7/27 | mmm | EBAHLMN 1,233| 813,128
8 | 7/27 | | VL Er 2 A A 42 3,000 810,128
9 | 8/17| =mn |[FEAHLMN 286| 809, 842
10 | 9/12 [ty |BEERE( BRBCHREE S EN) 12,669 797,173
11 | 10/3 |esemss | R EHCHR G S S8 2,000 795,173

10/17 ESIEENE: 3 4 Py 420, 000 1,215,173
12 [10/28| #m# | HBEH ML 170|1, 215, 003
13 [11/25| =z |HBEH L 1,404|1, 213,599
14 [12/28| #=m# | FHBEH L 3,013|1, 210, 586
15 | 12/28|maarsen 7§ 10/729~11/1 Ki 170, 144|1, 040, 442

1/16 HSIEENE: 4 /4 Py 420, 000 1, 460, 442
16| 2/2 | =m# |FHBEHLL 567|1, 459, 875
17 | 2/28 |mmmses |k 4 /8 ~9 /23 93,631|1, 366, 244
18 | 3/22 | #mz |&HMY 60, 000| 1, 306, 244
19 | 3/22 | #=m# |FHHEHLL 32, 1591, 274, 085
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SRR 284EBE

BOG TR BV R g

EASES At =
2l AR ma 1 ;3 WAL | A | 2551
20 | 3/23 |meirk itk 10 /26 ~2 /14 100, 845|1, 173, 240
21 | 3/28 | wms | FH5 A AR 23,769|1, 149, 471
22 | 3/31 |m#irses |fik#  3/25~3/30 2, 175(1, 147, 296
KA A
23 | 3/31 | #mwe %%g§§4ﬂ~$5229$4ﬂﬁ> 299,000| 848, 296
FT ey =N
24 | 3/31 | #wmoe %%;g;géjﬁiﬂ?ﬁmﬁmﬁ) 20,735 827,561
KA K B A
25 | 3/31 | #wmoe %@g;};ﬁ%{ﬂ?ﬁmﬁm ) 12,599| 814, 962
26 | 3/31| W %ﬁg;ﬁgﬁ/{ﬁmﬁ A 46,354 768, 608
27 | 3/31| wwsn %ﬁg%;?{jﬁ%ggﬁﬂﬁﬁ 28,994| 739,614
M2
28 | 3/31| At Tpgﬁig8ﬁ4ﬂ~$ﬁiz9$3ﬂ%> 371,625 367,989
T e
29 | 3/31 | e EE;E?E/Q?EEZIENQZEEZ%EZIE@\) 312,000 55, 989
= A A L A
30 | 3/31 | iz EE$$§EE~$EEZ9E3H@\) 14,178 41,811
AR 2 OBLAS
31 | 3/31 | wmin {E%T?Jz;ggﬁa~u?ﬁjzzgﬁgﬂﬁ) 18,060 23,751
=g SERL A
32 | 3/31 | #asorse {(ﬁggﬁggiﬂwﬁﬁizgﬁgﬂ%) 11,367) 12,384
&) At 1,680,000{1, 667,616 12,384
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